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for the questions

1, Answer the following as directed : 1x5=5

futt$Rv.rs fr$mr{ Uq{ fr{r :

(a/ In which year was the Income-tax Act
passed?

6fFr Frs qrs{ qRr €s tqREr

(b) The tax that an assessee pays directly to
the tax authority is called _.

( Fill in the blank )

qq{ FIlsR +$"rw-+ ctnffi ft +< fir-<

srs _ GI6q I

(<tA5R11qaqr)
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(c) Health insurance premium comes

under which Section of the Income-tax

Act, 1961?

xrt, ?Ti ftfi{lc, qErq{ qR{, 1961< c$rrdt
{Fne qI6{ ?

/r 80c
r,, 80 cc
1i,, 80 D

(iu,) 80 DD
( Choose the correct answer )

( vn Ee-<tr <rRbfrso )

@) Wnte one consequence of not filing
income tax returns.
qtrq< fifidnRq {<r+q .sir rRqG fi'<r r

(e) Name one tax saving investment for
reducing tax.

T-fi flR{H qE'$R1q 1lz< s1r ,{h Rft-cilr<
{Nfr{ I

2. Answer any fiue of tt.e following questions :

2x5= 10
oqs ftil fl:tzqr{{ ft corr{r dutrq t-e-{ fr{r :

/a/ Write the meaning of income tax.

wm-fiE{fr{r I
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(b)

(c)

(3)

Name two incomes from house property
which are exempted from tax under t]1e
Indian Tax Act, 1961.

Al*ftq 'm eflifi $r qI{{ {{ fu{r ftr{lTr
qsq{ q{ qitq, 196l{ cft{s rs c+qe Bu,
t<q r

State two benefits available to senior
and super senior citizens under the
Income-tax Act, 196 I while calculating
income tax.

qEFFI flq{t zFtR rFlie qnl-q{ qk, 1961<
qqt{s cqr$ qr qG rqrt {rqR-q{ <rr< E Frd

$rlRrbrm+-<r r

Write the meaning of perquisites under
the Indian Income-tax Act, 1961.

ERA{ qn-fi qkr, rs6r< qtrs snq(ft{
{-Ifr{T{ qdfrqr 

r

(e) Mention two differences between direct
tax and indirect tax.

gsIT Tit qliF eIritIT FR {Eis crfi $t {{$i
GcncF{ r

(d)
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A Define Person under the Indian

Income-tax Act, 1961'

sr<Bl sw+< qRl, rg6t< qftqE <t&< xut
fr$t

@) What do you mean by assessee under

the Indian Income-tax Act, 1961?

sr{fu wc< qRq, tgor< qfr{\, q<q&-l

ftoq ftslt
(U Who is a non-resident?

q<fi'n c+nr

(t) What is Provident tund?

vffificKqftt

A) What is capital asset?

plfratfter-a'ftt

3. Answer any four of the following questions
(in about 2OO words each) : 5x4=2O

saq ft 6q-6a utRfi s:rq t-sq fim (cfutl zoo Tq<

l\r9.{9 ) :

(a) Explain in detail about the scope of
personal tax planning.

arfuurs T-{ flR-f,fl{K 'tRX<-< ftS1l fi\orot!
<ilrm q{l I
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(b) State the meaning of capital gain in
detail.

1o<ftvtmvd<<tRfr<t I

(c) Define Assessment Year and Previous

Year.

s< fi-dfls <e< lT1.q "$<0 <fr< xer fi:n r

(d) W}rat are the benelits of Iiling income

tax returns?

qr{< fitt.lttftE +Rrq ft ft4E c<?

(e) State five incomes exempted from tax.

fi 6qR c"fl{l'tlDfrq qF Srs{ T-{ I

A Explain what is net annual value.

erfs <rfrs Tsl {r{ fr, rqqRG'{ r

@) What are the various allowances

available to employees?

vdht<sre<ftftftGasrqq(q?
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(6)

@ Kamal Kalita owns a house property

which is let out by him for T 6,000 Per
month. The following particulars of the
house are provided :

sT{ sagR fi'e< q< eh qrRft o,ooo tTto
slt ftcg rtrE< fr+<ft,c-qs frfl fi"R :

Municipal value'-t 70,000

cfr< a4aa-76,ooo 3*
Standard rent-T 80,000

{r;l$ \e-M-SO,OOO t$l

Fair rent-T 75,000

4r{I sl-!5t-75,000 tTt

Municipal tax for the house is l07o of the
municipa-lity valuation which is fulty
paid by the owner for the previous year
2023-24, You are required to determine
his income from house property for the
Assessment Y ear 2024-25.
q<etR {Ri (ft-{Tv-K s< cfr< {qllrfi 199/"

frctt Tf{q 4q 2023-24 E{r <tz< {r&-cs
r-lfdcfl 'tRc.nq Tfraq | 2024_25 Eq<
fi6l<ft rd{ {z< sft-sR T{r-,rfu qm fr{r<q
FIT I
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4. Answer arry one of the following . lO
ws frfirsr{{ fr cqn+r etrr bsr frT :

(a) Explain various heads of income under
the Income-tax Act, 1961. lO

cws-{ qit{, 1961T qQ4s qrs{ ftfrd
fisnq<fursirwrFT r

(b) Write notes on : 5+5=lO

drfift{r,
(fl Residential status

{cBtI{{q{tli
(rii Annual Information System

1lff+ vql<r{sr

(c) Define saLaqr. Explain in detail about
different components of salary under
the Income-tax Act, 1961. 3+7=10

rrT{R qsf ftlr r qH-fi qEr, rg6lr qft{v
6aq1 ftfu !cp6 frva fi-qrerc rnn <Rr r

(d) WlrLat is new tax regime? How is new tax
regime different from old tax regime?

3+7=10
ql{ F $iaI ftr rR F qr{ast{ iY4 Tr
ltiRl 6$iasm 1FF?

*t*
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